
Engine Mounting
Motorlager
Support de moteur



12 189 213 1623745  VOLVO Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Hollow spring

Hohlfeder

Ressort évidé

EN

DE

FR

Rubber buffer

Gummipuffer

Butoir en caoutchouc

EN

DE

FR

12 189 204 VOLVO

12 189 201 1611420  VOLVO

12 189 214 162 9553 VOLVO

12 214 301 161 4600 VOLVO

MODEL: 
 F 10 1984-1995

MODEL: 
 FL 6 1996-2000

MODEL: 
TD 100 A

MODEL: 
 TD 100/101, TD 102/103

MODEL: 
TD 100/101

1503490  ID: 17mm, OD: 102mm

Bore: 13 mm

Rear Axle

M10 x 1.5

ID: 17.5mm,

OD: 112.5mm

www.dat-germany.deAll stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.

OE NO. APPLICATION SPECIFICATION DESCRIPTIONDAT NO.

Engine Mounting
Motorlager
Support de moteur

VOLVO

1

126



13 189 22481 96210 0555MANMounting, Leaf Spring

Support de boîte d'engrenages

Ressort à lames du support moteur

EN

DE

FR

Bore 17 mm

Bore 17 mm

13 189 22581 96210 0554MANMounting, Leaf Spring

Support de boîte d'engrenages

Ressort à lames du support moteur

EN

DE

FR

13 189 221MANHollow spring

Hohlfeder

Ressort évidé

EN

DE

FR

13 117 303

81 96210 5025

81 39410 6019MAN

MODEL: 
F/M/L 2000, F/M/G 90, F 7/8/9

MODEL: 
TGA/TGS/TGX

MODEL: 
 TGA/TGS/TGX

13 189 22381 96210 5021MANHollow spring

Hohlfeder

Ressort évidé

EN

DE

FR

MODEL: 
F/M/L 2000

Center Bearing

Mittellager

Palier central

EN

DE

FR

MODEL: 
TGA/TGS/TGX

All stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.www.dat-germany.de

OE NO.APPLICATIONSPECIFICATIONDESCRIPTION DAT NO.

Engine Mounting
Motorlager

Support de moteur

MAN

1

127



M12 x 1.5 / M14 x 1.53872400317  Rubber mounting

Gummilager

Palier caoutchouc

EN

DE

FR

14 189 201 MERCEDES

MODEL: 
OM 422

M10 x 1.56202400717  Rubber mounting

Gummilager

Palier caoutchouc

EN14 189 208 MERCEDES

DE

FR

MODEL: 
 OM 422, BM 620/621/622/623

M16 x 1.5658 241 0013 Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

14 189 211 MERCEDES

MODEL: 
BM 620/621/622/623

M14 x 1.5 / M18 x 1.59412417713  Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

14 189 203 MERCEDES

14 189 202 MERCEDES

MODEL: 
Actros 1 950/952/953/954

M14 x 1.5 / M18 x 1.59412417813  Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

MODEL: 
 Actros 1 950/952/953/954

M12 x 1.5 / M16 x 1.5645 240 011814 189 206 MERCEDES Gear Box Mounting

Getriebelager

Support de boîte de vitesses

EN

DE

FR

MODEL: 
OM 422 + A

www.dat-germany.deAll stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.

OE NO. APPLICATION SPECIFICATION DESCRIPTIONDAT NO.

Engine Mounting
Motorlager
Support de moteur

MERCEDES

1

128



14 189 204MERCEDESRubber mounting

Gummilager

Palier caoutchouc

EN

DE

FR

14 189 213MERCEDESRubber mounting

Gummilager

Palier caoutchouc

EN

DE

FR

14 189 212MERCEDESRubber mounting

Gummilager

Palier caoutchouc

EN

DE

FR

14 229 501MERCEDESEngine Mounting

Motorlager

Support de moteur

EN

DE

FR

14 189 210MERCEDESGear Box Mounting

Getriebelager

Support de boîte de vitesses

EN

DE

FR

MODEL: 
OM 422 + A, BM 619

M14 x 1.5 / M18 x 1.5

230L x 165W x 154H

M10 x 1.5

M12 x 1.5 / M16 x 1.5

MODEL: 
BM 625

MODEL: 
BM 625, 655/656/659

MODEL: 
Actros 1 950/952/953/954

MODEL: 
BM 343

617 240 0217

6552410713  

6552410613  

000 325 0596

14 189 207MERCEDESRubber mounting

Gummilager

Palier caoutchouc

EN

DE

FR

MODEL: 
 OM 502 LA

645 240 0618  

361 266 0184

All stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.www.dat-germany.de

OE NO.APPLICATIONSPECIFICATIONDESCRIPTION DAT NO.

Engine Mounting
Motorlager

Support de moteur

MERCEDES

1

129



MODEL: 
 BM 336/343/346/349

MODEL: 
O317

MODEL: 
BM 336/343/346/349

MODEL: 
BM 336/343/346/349

MODEL: 
 BM 336/343/346/349

MODEL: 
BM 343/346

14 189 209 MERCEDES Gear Box Mounting

Getriebelager

Support de boîte de vitesses

EN

DE

FR

M12 x 1.5 / M14 x 1.5

M12 x 1.5 / M14 x 1.5

M12 x 1.5 / M14 x 1.5

M14 x 1.5

M10 x 1.5

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Engine Mounting

Motorlager

Support de moteur

EN

DE

FR

Radiator Mounting

Kühlerbefestigung

Montage de radiateur

EN

14 189 216 MERCEDES

14 189 241 MERCEDES

14 189 214 MERCEDES

14 189 215 MERCEDES

14 164 104 MERCEDES

DE

FR

346 266 0003

000 241 0113 / 000 241 0513

000 241 0113

000 242 1213

347 504 0012

343 241 0013

www.dat-germany.deAll stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.

OE NO. APPLICATION SPECIFICATION DESCRIPTIONDAT NO.

Engine Mounting
Motorlager
Support de moteur

MERCEDES

1

130



M12 x 1.5 / M16 x 1.5

M14 x 1.5 / M18 x 1.5

6522400318  

645 240 0418

14 189 205MERCEDESEngine Mounting

Motorlager

Support de moteur

EN

DE

FR

14 189 217MERCEDESGear Box Mounting

Getriebelager

Support de boîte de vitesses

EN

DE

FR

MODEL: 
BM 625, 652/653/654/655

MODEL: 
OM 502 LA

All stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.www.dat-germany.de

OE NO.APPLICATIONSPECIFICATIONDESCRIPTION DAT NO.

Engine Mounting
Motorlager

Support de moteur

MERCEDES

1

131



18 231 101 BPW BPW RUBBER COSHION 12 TON 

bpw rubberen kussen 12 ton

coussin en caoutchouc bpw 12 tonnes

EN

DE

FR

BPW RUBBER COSHION 16 TON 

bpw rubberen kussen 16 ton

coussin en caoutchouc bpw 16 tonnes

EN

DE

FR

RUBBER BUSH TRAILER BPW 36MM

rubber bus aanhanger bpw 36mm

remorque en caoutchouc bpw 36mm

EN

DE

FR

RUBBER BUSH TRAILER BPW 60MM

rubber bus aanhanger bpw 60mm

remorque en caoutchouc bpw 60mm

EN

DE

FR

18 231 102 BPW

18 231 201 05.113.93.03.0 BPW

18 231 202 05.113.97.10.0 BPW

03.140.16.01.0

www.dat-germany.deAll stated OE numbers and descriptions are intended for comparison purpose only and may not be used as original reference.

OE NO. APPLICATION SPECIFICATION DESCRIPTIONDAT NO.

Engine Mounting
Motorlager
Support de moteur

BPW

1

132


